Recall - Distribution
ex. 2(x-3)

Method 1: Arrows Method 2: Rectangles
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Common Factors

1.

Find the greatest common factor of each list of terms.

a) 8, 12x - e) 8x%y, 12xy? “HX Y
b) 8x, 12x 4« f) -15y, 102, 202 __ D vy
4,5 By 2 + =2
c) 8x, 12y <+ g) 6x4y5, 3x5y 2y
d) 8xy, 12x 4X h) 8xCy2, 12xy5, -24x2y* “ X Y .

Complete each factoring.

a) By+16=8( y +2) c) 12x%y +20x°y* = 4x%y( 3 + 5 xy)
b) 15¢2—45¢=15¢c( ¢ —3 ) d) -15a% +10ab?=-5ab( 3 ¢, —2 L)

Factor .

a) 183 -27x (A% =3 d) 8b2—4b + 20 4—(&bg—b+ 5>

b) 24a3+18a Lo (4o +3) e) 5e5-10c3+15c S C (Cf“~;?c&ﬂ—3\

¢) 3 +3x=6 [ XTx—2) f) 12x + 6xy? (XY (Ax=+ %
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